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“The train from New Delhi is late by 2

‘hours. What question would you: ¢ ¢

make in order to get this answer ?
(A) Isthe train from New Delhilate ?
‘(B) How late is the train from New
Delhi ?
(C) When will the train from New
Delhi arrive ? |
| (D) Where will the late train arrive

from ?

.- Sam hasn’t won this election,

2
(Fillin the blank choosing the correct
words) |
(A) has he

- (B). hasn't he

" {C). washe

(D) canhe

Choose the correct antonym of
* ‘optimist’

(A) Cynical

(B) Pessimist

(€) Rea‘listA' |

. (D) Pragmatist

Raju is quite smart and intelligent. His
brother, however, is rather

| and

(Fill in the blanks cheosing the correct

words) -

(A) short, unintelligent

(B) unsmart, stupid

~ (C) slowanddull

(D) brisk and witty

Fill in'the blank with the appropriate
preposition :

The document has to be certified by
an oﬁiéer not_____therankof
a Tehsildar.

(A) under

(B) above

| (C) beidw :

(D) over

“Will you attend the meeting ?" he
said. In reported speech this will be :
(A) He asked us whether we would

attend the meeting.

(B) We asked us whether he would

attend the meeting.

(C) He asked that if e will attend

the meeting.

(D) We asked if he will attend the

meeting.
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- The following word refers to a country

seeking public vote in respect of a

- . matter of national policy or political

' | significance:

| (A) Referendpm
(B) Refefral

" (C) Reference

(D) Referenda

Ali members of the_ staff leave office

at 6 P. M. In'the past tense this wil

read :

A Al mémbers of staff left the
officeat6 P. M. |

All members of the staff'left

- (B)

~ officeat6 P. M.

(C)
office at 6 P. M.

(D) All members of the staff were

leaving office at 6 P. M,

"Have you seen Soum'ya of late ?”
‘l‘No,_ll’m afraid. | have not
her for nearly a week.”

(Fill ih the blank wit_h right wprd)
(A). . saw ‘

| (BY met
i

.VL—'1A/15-

1.

Allthe members of the staff left

12.

(3)

(C) meet

(D) seen

| finished typing the pages. | left office.
(Rewrite using the phrase ‘as soon
as’) |
(A) 1 finished typing the pages as

soon as | left office.
(B) Ifinished as soonas| typéd the
' pagés to leave office.
(C) Assoonas | finished typing the
pages | Eeft office. l
(D) Assoonasl| fini's_hed“t‘l"ie'typing

of pages | left the office.
ldentify the wrongly spéit word inthe
following :
(A) Symbolic
(8)
(C)

(D)

- Synergy
Systemétié
Synthasis
Identify the word with correct spelling :

(A) Liquidate

- (B) Leagality

- {C) Lisentious -

(D) Liesure

| (Turn over)




13.

14.

No pain, is an old proverb.

(Choose the right phrase below and

complete the proverb)
(A) noslain

(B) no plain’

(C) nograin

(DY nogain

in the cld saying, Honesty is the best

‘policy, ‘Policy’ means :

" (A) Insurance

- (B) Bet

18.

16.

(C) Principle
(D) Contact

you run, you will not catch
up With your sister who left some time
ago. -
(Fill in the blank with right word /
words) ' '
(A) Ifnot
(B) If
(C) Until
(D) Unless
What woulidl be the correct reéponée
to the following ? |
Have you finished correcting this draft ?

(A) Thavebeen correcting this draft

since morning.

V0L-1A/15
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18.

19.

. (B} No,lhaven't.

(C) No, lwon't.

(D) will finish correcting this draft
soon. ' o

Itwas quite of you to have

the letter wrongly delivered

toyou.

(Choose the right words to fill in the
blanks) '

(A) thinking, returned

(B) thoughtful, returning
(C) thoughtful, retumned

(D) thinking, retumn

Corruption cannot be called a pan-
Indian phenomenon. Whatdoes ‘Pan’

mean?

(A) Only

(B) Within

(C) Across

(Dj All of the above

If you think you have offended
someone unawares, you must show

the courtesyto

(Choose the right words to complete

the selntence)
(A) explainthe oﬁencé
(B) takebackthe offence

(C) say‘thank you’
(D) say ‘sorry’

Contd.
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20. Rabibabu has been living in

21.

VL-1A/15

- (B

Balasore for the last twenty years.

*What this means is that

(Filkin the blank with right words)
(A) Rabibabu has left Balasore for
-gobd o
Rabibabu’s leaving Balasore
was not good
)
Balasore
(D)

forever

Which of the following is a correct

sentence ? |

(A) | had checked my pockets and
discovered that | forgotien the
keys elsewhere..

(B)

| checked my pockets and

discovered that | had forgotten

the keys els_éwhere.

(C) 1 checked my pockets and

R discovered that | forgot the keys
elsewhere.

(D) -,l éheck my pockets and

discover that | had forgotten the

keys elsewhere.

Rabibabu is still living in

Rabibabu‘ will live in Balaéore |

24

(5)

22,

3.

- {A)

®)

Find out the incorrect sentence
below :

Both sisters are telling lies ;
‘neither is to be believed.

Both sisters tell lies ; neither is
Vbél'iéved.
(C) Both sisters are telling lies ;
neither are to be believed.
(D) Both sisters are neither telling
lies ; nor they are believed.
Bring______axe;|shall cutdown
_;;tree. -

(Supply the c‘o:rrecfé:tlrticles)

(®) -
(B)
(C)
(D)

my, that
that, this
the, a

an, the: |

Identify .the sentence that uses

articles correctly :

(A) Office bf the Co!lector is located
at a distance Qf 2 kilometers.

(B) The Office of Collectoris located
at the distance of 2 kilometers.

(C) The Office of the Collector is

located at a distance of

2 kilometers.

(Turn over)
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25,

(D) An Office of the Collector is

located at the distance of

2 kilc_)rrieter_s.

The Prime Minister together with his

.personal staff ______ coming.
o (Fillin the blank)
(A are
| (B)is
(D) have

26,

i

27.

This is my book. Where is

S (Fillin the blank)
- (A) mine
(B) yours
(C) others
- (D) that
| am angry _ thel boys
—_disturbed my sleep.

(Filtin the blanks)

{A) at, that
. (B) - with, who

+4(C)  for,who

28.

(D} with, they

| haven't brought the receipt. | shall

- give it to you tomorrow.

o (Begin with “Would you mind” -«

and rewrite the sentence)

VL~ 1A/15
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(6)

30.

(A)  Would you mind my bringing :

the receipt fomorrow ?
(B) Would you mind it giving you
the recéipttomorrow? o
{(C) Would you mind if given the

receipt to you tomorrow ?

- (D) Would you mind if 1 give you the

receipt tomorrow ?

If you are asking for information, you

use very polite language. Which of the

following is the most appropriate.

guestion in this context ? '
(A) s there a train to Katihar from

here ?

(B) May‘lknowthetrainto Katihar .

from here ?

(C) Could you teli me whether there

is atrain to Katihar from here ?

(D) Can you tell me the train from

‘here to Katihar ?

“May | use your telephone ?” is
more than | want to use

your telephone.  (Fill in the blank)

{A) suggestive

. {B) authoritarian

(C) polite

(D) discourteous

. Contd.




31.

32,

33.

It does not' seem to suggest that
the offenders who barged into the
ATM counter were young people.
Which phrase here tells you that the

speaker is not quite sure about the

~ offenders ?

(A) Seem to suggest
(B) Barg_ed into

(C)  ltdoes not

(D) Thatthe offenders

Immediate steps are being taken to

return all unused funds to the

. Establishment Section. .

(Change the voice)

(A) The establishment section
takes immediate steps to

return.”

(B) The establishment section is

taking immediate steps to -

return,
(C) The establishment section are
~ taking immediate steps to
return,
(D) The establishment section will

take im_mrediate steps toreturn.

Choose the past tense of the verb
‘bend’:
(A) bent

VL —-1A/15

34.

35.

{1

o)

&)

)

(B) bended
(C) binded
(D) bond

For your information | would inform

~ youthat it is necessary to submit the

status report to this office by 31st
May, 2013.

(Correct the sentence by picking the
right suggestion given below)

(A}  Begin the sentence with “by

31st May, 2013"

(B) Nochange réql;;ired o

(C) Omitthe phrase “lwould inform
~ youthat® '

(D) Omit the phrase “For your

information”

Match the fragments correctly :
Thelongeryouwait {a) is towithdraw your
homination

The more you (&) Ishall give you more

investigate
Onceyoufinish  (c) thebetteryour chances
this job willbe

Theleastyou {d) the more appalling facts

could do will surface

(A) 1—(d),2~(b), 3~(a),4-(O)
(B) 1-(c),2~(d),3~(b), 4-(a)
(C) 1-(a), 2~ (c), 3—(d), 4~ (b)
(D) 1-(d), 2 (b),3~(a),4~(c)

( Turn over)




36.

37.

38.

39.

The chair’s leg is broken can be

better written as :

(A) The chairs leg is broken 40.
- {B)  Theleg of the chairis broken

(C) Theleg of chairs is broken

(D) The clzhhairs’ leg is broken

. The police station is 6nly a stone’s

throw from the site of burglary. VWhat

does “a stone’s throw” indicate ?

(A) Aheap of stones
(B) Circﬁmstanceé of burglary

(C) Visibility

H (_D) Distance

Since | had _%_-things tobuy!
had withdrawn

the ATM.

money from

(Fillin blanks with right words)
(A) afew, alittle -

(B) éfew, some

(C) some,'a few

(D) few, some

In order to indicate a sequence, we .
use suchwords as :
(A) Moreover, further, again

(B) First, second, third

VL— 1A/15 | (8)

41.

42.

(C) Next, after, ultimately
(D) And, but, yet

Drunken driving, smoking pot,

shoplifting and kidnapping are

(Fillin the blank)

(A) offending |
(B). criminals
(C) offence
(Dj crimes
Walking along i‘he road a car hitme.

(Correct the sentence)
{A) . No correction required

(B) Asthe carhitme, l was walking

along the road.

(C) When | was walking along the

road, a car hit me.

(D) Walking along the road, | was
hitby a car. -

Complete the series : kind — kinder

—kindest '; fat—fatter —fattest ; heavy

(Fill in the blanks with right forms)

- (A) haeviermheaviest

(B) heavier—heaviest

(C) havier—haviest

(D) heavyer— heavyéét

Contd.
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- 44,

45.

VL - 1A/15

One who smuggtes is é smuggler,
one who blackmails is; a blackmailer ;
onhe who murders is a murderer ; one
who commits burglaryis a:

(A) Burglér |

(B) - Burgler

(C)
(D) Burgle

Barglar

His brother____ - cancer.

(Fill in the blank)

(A) curedof

(B) healed of
(C) diedof

(D) succumbed of

John’s mother died last night.
Another way of saying this would be :
(A) John's mother has gone last
night. _

(B) .John”s ﬁnother passed by !asjt
hight. '

(©)

John's mother passed away

last night.
(D) John’s mother ended her life
last night.

(9)

48,

47.

48.

(A)

How long has she been waiting-for

the bus 7 | am not sure.
(Combine this pair into one sentence )

| am not sure how long she has

. been waiting for the bus.

| am not sure how fong has she

(B)
been waiting for the bus ’P
(C) lamnotsure thathowlong she
has been waiting for the bus.
(D)

| am not sure for how long she

has been waiting for the bus.

The whole area is awfuily polluted.

is a major environmental

hazard. (Filil in the blank)
(A) Pollution
(B) Polluting

(C) Pollutant

(D) Poliutedness

Put the following words in an order

to make a meahingful sentence :

from/with /has not/he/an accident/

last February /which/ recovered / met/

Amulya. | |

(A) Last FebruaryAmuiyé met with
-+ an accident from which he has.

not recovered.

(Turnovery




49,

(B) Amulya met with an accident
last February from which he has

not recovered.

(C) Amulya met with an accident

from whibh‘_ he has not

recovered last February.
(D) Amulya has not recovered from

last February an accident which

he met with.

Make a compl'ete sentence from the

foilowing phrases :

In abad temper — we must — in the

morning - Mr. Mishra — usually —bear |

inmind.
(A). Usualtly we must bear in mind
that Mr. Mishra in the morning

is in a bad temper.
-Mr. Mishra bear in mind that we

(B)

usually mustin a bad temper in

the morning.
(C) We must bear in mind that
~.Mr. Mishra is usually in a bad
temper in the morning.
(D) - Usually we must bear in mind
~that Mr. Mishra is in a béd
temper in the morning.
VL~ 1A/15
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50.

51.

52.

(B

(D)

What do these expressions suggest
toyou ?
May | know who's calling ? Who's

calling, please ? Who's on the line ?

(A) Response to an outgoing
phohe—call
{B) Queries regarding a former

telephonic conversation

(C)

Queries regarding a current

telephonic conversation
Response to an incoming

(B)

phone-call

Many young péople lost their jobhs
" the great meltdown of

American economy. (Fillin the blank)

(A) from

Sihce

(C) with

during

Which of the following modifies

‘observe’ most suitably 7

(A)

(B)

(©).

(D)

Carefully ' -
Remotely
Simply

Silly

Contd.
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o4.

55.

‘the country.

It takes exactly one hour and twenty

‘minutes to reach the railway station

by car. Which of the following
questions eiicits the answer ?

(AY Can!reach the railway station
_ by hiriﬁQ acar?

(B) How far is the railway station
from here ?

(C) How long does it take to reach
" the railway station by car ?
(D) Would you suggest that | hire a

car to the railway station ?

After an official meeting we usually
take a the‘, reach an agreement,
make a recommendation, agrée on
a course of action, or

(Fill ih the blank)
(A) gef started
(B)
(C)

(D)

disperse

get going

adopt resolution

During Anna Hazare's agitation,

“corruption”becamea_________in

(Fill in the blank)
(A) watchword

(B) keyward

VL - 1A/15
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56.

o7.

58.

(A

©
(©)

(C) cussword

(D) buzzword

I'm not a very domestic sort of person.

What this means is that the speaker.?

(A)

prefers to have a domestic
help. ‘
(é) does not like home life very
much. |

(C) is a stay-at-home sort of
person. '

(D) does not like to leave home for

work.

Tﬁe_ poor man has to look after.
a large family of his own and his
brother’'s, not td mention his old
parents who live in the village.

The phrase not to mention is used -

to introduce extra information

to mention 'so'mething

(B)
unpleasant

-to introduce an' irrelevant fact

not to m'entibn but to inform

Conjugal rights apply to'

(A) . rights that affectaperson’slifé
(B) ajudicial activist's rights

(C) marital relations

(D) official information

(Turn over)



59. Identify the question below that does

not quite require yes / no answer :

(A) Aré you going home tonight ?

(B) ‘.How dare you ask me such a
silly question ?

(C) Could you show me the way to

your gymnasium ?

-~ (D) Is there room for one more

60.

61.

person in your office ?

You'd better take your final test

'sooner than

(Fill in the blank)
(A)'- better
(B) later
(C) latter.

(D) earlier

While the immediate dispute

appears to have been resolved,

many issues remain, It is yet unknown

62.

what motivated one party to back off.”

(A)‘ The two statements are

unrelated.

(B) They are related in the sense
that the second statement is

one of the issues that remains.

VL -1A/15
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63.

64.

(C) They are not related ; the

- second statement is not an -

issue that remains.

(D) None of the above

No one can hope to get away with
such a big crime, “Get éway with”
means : |

(A Pfoceed with

(B) Go along with

(C) Tolerate

(D) Escape punishment

The officer told me in no uncertain

- terms that she cannot put up with such

* nonsense. “Put up with” means :

(A) 'i:olerat_e

(B) Suffer

(C) Encourage
(D) Oppose |

The carpenter made this box and
delivered it to the suppliers. Rewrite
the sentence beginning with : This

box

(A) This box was made and
delivered it to the suppliers by

the carpenter.
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66.

(B) This box was made by the
carpenter and delivéred itto the
suppliers.

(C) This box was made by the
car;:ien'ter and delivered to the

suppliers.

(D) This box was made by the

carpenter, it was delivered to

the suppliers.

| love my children. | cannot give them

all the comforts they want.

' (Combine into one sentence)

(A) Although | cannot give all
comfoﬁé they want | love my

~ children.

(B) llovemy children eventhough |
cannot glve all they want.

(C) 1 love my children although |

* cannot give them all the
comfo s th ey want.

(D) | love my children though |
cannot give them all comforts
they want. '

Had | known‘f'ﬁét the officer would be

displeased — o

(Complete the sentence choosmg

| the rlght words)
(A) " Iwouldn't do such a thing

VL - 1A/15
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(B) ~ would I notdo subh thing
(C) | cannot do such a thing

(D) 1had notdone suchathing '

“l shall never forget the help | got from
my parents. They have been so
generous all through my days in
school and coliege.’; Report this as

told by a male person.

(A) Hé said that he shall never
forget the help he got from his
parents. ‘He has been so
generous all through their days
in schooland college.l <

(B) He said that he woulq. never
forget the help he had gotfrom
his parents. He added th.at they
had been so generous all
t_hrough his days in school and
éoliege.

(C) Theysaid that he woyld nevér
forget the help he had got from
his parents. They added thathe
had been so generous alil
through their days in :“;chool and

~ college.

(Tum over)




(D) She said thatshe would never
forgét the help she had got from
her parents. She added that
théy had been so generous all
through her days in school and

college.

68. When aletier begins with “Dear Sir/

Madam”we callita_______ letter.

| (Fillin the blank)
(A) formal
(B) official

(©

(D) unofficial

informal

69. The notice or announcement of a

person’s death in a newspaper or

periodical is
{(A). ‘an.advertisemen.t
(B) acolumi*;
(&) afeature

(D) an obituary

70. Inthe expression He laughed-loudly,

“Youdly’ .
(A) denotes duration

(B) indicates volume

VL —1A/15

(C)} describes manner

(D) criticizes action

Direction (Q. Nos., 71 to 77) : These
questions are based on the following’
passage. Read it carefully. Pick the most
appropfiate answer from the options given

after each question.

Across the world, there are barriers
to higher education. In developed
countries, they may be economic or
geographical. [n developing éountries like
India, the obstacles are not only economic
or geog'raphical. in nature but also
bureaucratic — the biggest obstacie of all
is simply a lack of supply. That is why, far -
from 'the'popUIar im'pression of online
education being viable orﬁy in the
developed world, itis actually in countries
like India where it can fulfil its potential.
Internet penetration IS gfowing at a steady
pace in India — and unlike conventional
education where physical infrastructure is

a huge limiting factor, internet conneéti'vity

.alone can enable millions of youth to

(14)

access quality higher education online. And

we have concrete proof tlhat’lndians are .

L3
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‘hungry' for such opportunities. They form the
second largést group of people, by
nationality, accessing two of the largest
online education efforts — Coursera and
edX. It is not surprising after all that an
Indian would be interested in the quality
courses these initiati;res offer, or accés_s
| vy League lectures onliné, or dow_nloéd
podcasts by profeséoré from the top g]obél
universitie.s, all of which are freely
| available. With the abysmal situéﬂon of
India’s higher education, online education
will free our youth to search for knowledge

and power elsewhere.

© 71. The focus of this passage is on

(A)
(B)

higher education in India -

online education for Indian

students
(C)
(D)

coursera and edX
poor. accessibility, of higher
education

72. The author of this passage is

Indian higher education.

(Fill in the blank)
(A) critical of

VL - 1A/15

(1)

(B) appreciative of
(©)
(9)

indifferent towards

ignorant of

73. Which of the s;tatemént belowistrue,

- according to the author ?

(A) - There are barriers to higher
education everywhere in the

world.

There are barriers to higher

(B)

education only in India.

(C} There are barriers to higher
education only among the
Indian youth.

(D) Indiaoffers better opportunities
.to our youth among the '

developing nations.

74. What, according to the author, is the
popular impression ? '
(A) That online education is'
inaccessibletoall

That' online education is

(B)

inaccessible to some

(C) That online education works
only in the developed world

o))

- onlyin the developing world

That online educati‘on works

(Tu.m over)




75. What is a limiting factor in higher

education in India ?

(A) Good teachers

(B) Physical infrastructure

(C) Disfance between places

. (D) Huge population
76. What lectures are freely available

online ? |

(A) Coursera and edX
| (B) | University coﬁrses

‘_(C) vy League

(D) Podcasts by professors

77." How does the author describe India’s
_ higher education ?
(A) As depressihg
(B) As below-par |
(C) As abysmal
(b) As unimpressive
78.. You take a lot of time to read books.
It would be advisable to begin

- planning your essay early. Begin with

~ “Considering,” and combine the two

3

sentences :

(A) Considering the planning of
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79.

(B)

(C)

(D)

. your essay early you take a lot

of time to read books.

Considering that you take a tot
of time to read books, it would
be advisable to plan your

essay early. -

Considering that it would. be

advisablé to plan your essay

early, you take a lot of time fo

read books.

Considering that you take a lot
of time to read books early, it
would be advisabie to plan your

essay.

“l have finished thi's tésk. No, 1 am

going home.” What would be the

appropriate questions for the

responses here 7

(A)

(B)

(C)

D)

Are you going home after
finishing the task ?

Are you finishing the task ? Or
going home ?7 ‘

Are you done ? Are you staying ?
Whe‘n will you finish énd go

home ?

Contd.




80.

81.

82,

{B)

- otherwords,

(A) the car is still speeding. It hit

“only me.

(B) thé car sped away éfter hitting

“me and no one else.

(C)
hittingme. -

(D)

the car only sped away while

hitting me.

"When your office requires the

services of a person wlh:o can fit and
repair water pi-pes, you contact a
(AY plumber
plover

(C)
(D)

carpenter

turner

WhichAof the following is the correct

word-formation ?

(A)
(B)
C)
(D) _.l_'.\J‘e_test + able = detestable

Detest + ible = detestible
bitest + able = ditestable

Ditest + eable = ditesteable
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. The car sped away. It hitonly me. In

the car sped away only after .

(17)

83.

84.

85.

®)

- (©)

Ch_oosé the correct word having the
same, or neatly the sar-ne meaning
of the word ‘Splendid’:

Beautiful

Glamorous

B)
(C) Ordinary

Magnificent

(D)

Raju ié brave, but his brbtlher Rarﬁu
) , o

(A) éhy
(B) timid
bored
(D) tiny

The report im‘piies that there is
severe scarcity of water and food.
Pick out the word that suggests thatthe
news is nét quite explicit or direct
(A) Implies

(B) Se\}ére

(C) Scarcity

(D) Report

(Turmover)




86.

87.

88.

89.
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‘Tve been running.' Whatwould be the

{(C)

(D)

F N

It's pretty cold today. “It's” here

- 90.

(A) is amistake. The correct word
is “Its.” |
is a mistake. IThe correct words

(B)

are “Itis.”
stands for “ltis.”

(C)
(D)

stands for “lt was.”

next logical and correct sentence ?

(A)
(B)

That's why | am gasping'.
That's why | am late.

That's why | am not gasping.
(D)

That's why | was late.

lwishl___-  ___ the answerto this

question.
®
(B)
(C)

have known
know
can know

knew B
| am very tired. I'd rather
(Filtin the_ blank)
(A) work more
(B) nottowork more

(C) work anymore

(18)

| (A) .tiII

91.

-(A)

(Fillinthe blank) g,

(D)

(D) notwork anymore

[ think I'll wait Saturday

before | decide what to do.

(Fill in the blank)

(B) before
(C)

(D)

unto

until

The rights of women can be rewritten
as:

Women’s rights

(B)
(C)

(D)

The women's rights
The woman'’s rights

Woman’s rights

Silver Jubilee is the

(A) special celebration of anevent
on its twenty-first anniversary
(B) special clelebra;ion of an event
on |ts Menty—ﬂﬁh annfversary
(C)

special celebration of an event

on its fiftieth anniversary

special celebration of an event

on its fifty-first anniversary

Contd. -



L

s ~ Amitwasn'tthere. Amish wasn'tthere.

When you combine these sentences
as one, which of the following words
would you use ?

(A) But

By I

(C) Either

(D) Neither

94. - enquiry the official main- -

tained that nothing illegal had been

done. ~ (Fillin the blank)
W

(B) Upon

(C) At

(D) Since

- 95, Has anyone told you what to do this

week ? If you begin the sentence with
‘Have yoﬁ’, 'h'c)w will you qomptete the
question ? o

(A} Told what to do this week by

someonea ?

(B) Been told by someone what to

do this week ? -
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(C) Told someone what has been
done this week ?
(D) - Been told someone what to do

this week ?

Direction (Q. Nos. 96 to 100) : These
q'uestions’ are bésed on the fbllowing
ﬁassége. Read it carefully. Pick thé most
a-pprop‘riate and cbntext_ually apt answer
from the optioné;.given ‘after each question.
 Ratherthan saying thatlittle boys and

Iittlé girls, from the very start, learn two

different ways of speaking, | think that the

process is. more complicated. Since the

mother and other women are dominant :

inﬂugnc_es in the lives of most children
under the age of 5, probably both boys and
girls first learn ‘women’s language’ as their
first language. As they grow older, boys
especially go through a stage of rough talk ;
this is probably discouraged in little girls
more strongly than in little boys, in whom
parents may often find it more amusing
than shocking. By the time children are 10

or s0, and split up into same-sex peer

(Turn over)




- groups, the two languages are already
present, according to my recollections and
observations. But it seems that what has
happened is that the boys have unlearned
their original form of expression and
adopted new forms of expréssion, while
.the girls retain their old ways o} speech.
The ultimate résult is the same, of course,
whatever the interpretation. | |

So algirl is damned if she does,
damned if she doésn’t. If she refuses to talk

like a lady, she is ridiculed and subjected

to criticism as unfeminine ; if she does

learn, she is ridiculed as unable to think

clearly, unable to take part in a serious

discussion : in some sense, as less than-

fuily human. These two choices which a

woman has — to be less than awoman or
less than a person — are highly painful.

96. . By the time children are 10 or so-++++
What does this phrase sﬁggest ?

(A) A;‘)proxirhately

(B)

(©

(D)

VL - 1A/15

Appropriately
Or above

Or bélow

(20)

88.

99.

' find it more amusing than shocking.’

in whom parents may often

1

Who does the author mean here ?
(A) Little boys
(B)

©

(D)

Little girls
Their parents

Older girls

“[A] girl is damned if she does,

~damned if she doesn’t.” How do we

'understand'whatthe author means by

this statement?

(A)

(B)
paragraph

(C) By reading the line following

this statement

- (D) Byreading between the lines

~ Are the “two choices” mentioned in

the last line real choices forwomen ?
Explain..

(A) Yes.They have the freedom to
exercise the less painful

choice.

Contd.

By reading the whole paragraph

By reading the previous

1
]



®)

(C)

()

Yes. They have the freedomto
exercise the more beneficial
choice.

No. They have no real choice
- gither way.

No. They must feel painful

" always.

100. What we learn from this passage, is

(A)

Boys and giris learn to speak
different languages because of
norms widely accepted by a

society.
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.

(B)

(©)

(D)

Boys and girls fearn to speak
different Ié_ﬁguages because
they are so conditioned
biologically.

Boys and gitls are not able to
understand one another
because they speak different

languages.

Boys and giris do-understand -

one ahother despite the

different languages they speak.

-{ Turn over)
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SPACE FOR ROUGH WORK

(22)

Contd.



SPACE FOR ROUGH WORK
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